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The interaction of all living organisms with the non-living factors in a given area powered
by a flow of energy is called .............
A. Photosynthesis
B. An environment
C. Abiotic factors
(D.)  Anecosystem
The wise use of our renewable resources today so that both the resource and the
environment will be there for future generations.
A Environmental Protection
(B.)  Sustainability
% Conservation
D. Paradigm shift

The physical or non-living factors of the environment are called ..................... factors.
A. Biotic
(B.)  Abiotic

C. Interactive

D. Biodiversity

Organisms which manufacture their own food by using energy from the sun and carbon
dioxide and water are called.........

(A) Autotrophs

B Consumers

Chemoautotrophs

) Producers

O =

A significant change in the way humans view the world for example thinking the earath is
flat then thinking it is round.

A. Ecology

B. Biodiversity

(Qa\ Paradigm shift

D. Sustainability

Which of the following terms describes the competition between killer whales for seals as
food?

A. interspecific
B. specific
C. non-specific

I')\? intraspecific
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7.

10.

11.

12,

L3,

The gradual change in the types of species that live in an area up to a stable climax

community is known as.
T’ 4 \

(A) Succession
B. Biome
C. Ecotone
B A Biodiversity

In a pyramid of energy which of the following would you find at the bottom level?
A. First order consumer

B. A herbivore
(C)  Producers

D. Decomposers

Which of the following organisms would you expect to have the lowest concentration of
DDT in its system?

QS‘ plankton

B. sea birds

C. fish

D. small whale

Which of the following populations within the ocean ecosystem would you expect to
have the smallest biomass?

A. plankton
(B)  killer whale
Cs seal
D. cod fish
The process where plants perform CO; + H,O — CsHi206 + O3 in the presence of
sunlight is called.........
f@} photosynthesis
B. Cellular respiration
C. Transpiration
D. the nitrogen cycle

Which of the following is an important organism in the nitrogen cycle?
A Worms

@) Nitrogen-fixing bacteria

C. Decomposers

D. Detrivores

Which of the following statements is true of a pyramid of biomass?

It shows the number of organisms at each trophic level

It shows that biomass increases from each trophic level to the next
It shows the energy lost at each trophic level

It shows that biomass decreases from each trophic level to the next

Cle¥-F=
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14.

15,

16.

17,

18.

19,

20.

The process whereby toxins collect in the bodies of organisms in progressively higher
concentrations towards the top of the food chain is called ...........
N Biological magnification
B Progressive poisoning
{"f\\\ . .
\C)  Bioaccumulation
D. Toxification

>

Which of the following statements about nitrogen is true?
A. Plants can use nitrogen directly from the atmosphere
B. Our atmosphere is made up of about 15% nitrogen
(C)  Nitrogen enters animals when they eat plants

D. Plants only use pure nitrogen

Which of the following is NOT a reason for the declining numbers of the Frog?
A. Pollution

B. Increase in UV radiation
C. Loss of habitat

@i Increased Predation

All the energy transfer relationships within an ecosystem would be called a(n)

N Food web
B. Food Chain
Cs Ecotone
D.

Climate change

An organism that consumes both plants and animals, and has both sharp and flattened
teeth.

A. Herbivore

B. Carnivore
© Omnivore

D. Meatatarian

The "border" area between two ecosystems where you can find organisms from both

ecosystems.

A. Population
B. Community
C. Biome

@)  Ecotone Youdo not necs
When one organism will benefit while the other organism is not helped or harmed.
A. Mutualism

(B)  Commensalism

e Parasitism

D. Consumerism
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21.

22,

23,

24,

25.

26.

27.

What percentage of the solar radiation is used for photosynthesis?
A. 44%
B. 25%
C. 3%
@  0.023%

Which of the following objects would have the highest Albedo?
Mud o
Asphalt
Snow
Sand

A.
B.
D.
Which of the organisms below does NOT undergo cellular respiration?
A. Fox

B. Cod fish

(C)  Sunflower

D. They all do

Which ecological pyramid graph, would use the unit joule (J)?

A. Pyramid of biomass

B. Pyramid of numbers

(@ Pyramid of energy

D. Pyramid of biomes

Which of the following is the correct definition of a Ecological Niche?

A The most important species in an ecosystem

@ A "role" in an ecosystem where an organism can live and reproduce
C The competition between two species

D. The physical environment in an ecosystem
A

pesticide that is found in nature like nicotine or mercury.
@x) First generation

B Second generation

C. Synthetic

D Fat soluble

Which element below is considered to be the main organic element?
& Carbon
B.

Silicon
C. Nitrogen
D. Sulfur
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